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Become the World's Greatest Athlete in RK's Decathlon, best with 1 to 4 players: play 10 dice games
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modeled after the famous athletics discipline. You will need 8 dice plus a scoresheet for each player.
Players try to score as many points as possible in each event. The player with the highest points
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total after the 10 events wins the competition. // Championship variant, for 5+ players: receive

- Eaies
Honours for First (3H), Second (2H) & Third (1H) rank in each event. Tied players all get
DATE / ATHLETE: SCQ the better rank. The player with the most Honours wins, points total breaking ties.

g Throw the first set of 4 dice until you are satisfied 7 Ne [ r N WS
with the result. Proceed in the same manner for {.L) . g@é > @ gi
the second set.
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You have a maximum of 7 throws total. Run -up: Start with 5 dice. Freeze at least 1 die per throw.
Score: total value of the dice, ) Invalid if frozen total above 8. Jump: Start with frozen

6s count negative. 2 @ . dlce.Freeze at least 1 die per throw. You have 3 attempts. 6

N — Score: best total value of dice frozen in a jump.

Throw 1 die after the other. You can decide to Jumping starts at a height of 10, increased
score at any time. If you throw a 1 you suffer . IT\ by 2 each turn. Players take turns at each
an invalid attempt. height or may skip. Throw all 5 dice to equal
or exceed the current height.

You have 3 attempts at each height.

You have 3 attempts.
Score: the maximum height that was mastered.

Score: best total value of —
> all thrown dice. @
~— 10-12-14-16-18-20-22-24-26-28-30 \_

\e\’s Throw the first set of 2 dice until you are satisfied N _¢
with the result. Proceed in the same manner for

the second, third and fourth sets.
You have a maximum of 9 throws total.

Score: total value of the dice, N e , S
6s count negative.
NI &
a2
Start with 5 dice. Freeze at least 1 die per throw G Jumping starts at a height of 10,
You can only freeze dice with an even value. \ | ” g increased by 2 each tum. Players
You can decide to score at any time - ~— take turns at each height or may skip.

% > A @ 6°
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Throw all 5 dice until you are satisfied
with the result. You have a maximum of 6 throws total.
Score: total value of the dice.
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You have 3 attempts. Throw 2 to 8 dice to equal or exceed the current height,
Score: best total value of but without any 1s. You have 3 attempts at each height. Q<
the frozen dice. . 1D+ " 0 Score: the maximum height that was mastered. \0
— o 10-12-14-16-18-20-22-24-26-28-30-32- . -48 \_. ¥

Start with 6 dice. Freeze at least 1 die per Q')_, o e N Throw the first die until you 15
throw. You can only freeze dice with an odd - @ are satisfied with the result. %
value. You can decide to score at any time. — ~— Proceed in the same manner
You have 3 attempts. for each of the remaining 7 dice.

Score: best total value of \ You have a maximum of 13 throws total.
the frozen dice. . @ 0 Score: total value of the dice, 6s count negative.
4 Championship variant Honours / event 1-10
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Scoresheet design (c)2019-2020 Alfred Das.
Original rules at www knizia.de (c) Reiner Knizia. All rights reserved.
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Become the World's Greatest Athlete in RK's Decathlon, best with 1 to 4 players: play
10 dice games modeled after the famous athletics discipline. You will need 8 dice plus
enough scoresheets for all. Players try to score as many points as possible in each
event. The player with the highest points total after the 10 events wins the competition.

DATE / ATHLETE:

Throw the first set of 4 dice until you are satisfied
with the result. Proceed in the same manner for
the second set.
You have a maximum of 7 throws total.
Score: total value of the dice,
6s count negative.

[ N [ N
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/I Championship variant, for 5+ players: receive Honours for First (3H),
hSecond (2H) & Third (1H) rank in each event. Tied players all get the better
L]

rank. The player with the most Honours wins, points total breaking ties.

)

)

Run-up: Start with 5 dice. Freeze at least 1 die per
throw. Invalid if frozen total above 8. Jump: Start with
frozen dice. Freeze at least 1 die per throw. You have 3
attempts. Score: best total value of dice frozen in ajump.

DICel

@

Throw 1 die after the other. You can decide to
score at any time. If you throw a 1 you suffer

an invalid attempt.
Q@ (

You have 3 attempts.
\10 12-14-16-18-20-22-24-26-28- 30

Score: best total value of
-> all thrown dice.
Jumping starts at a height of 10, increased by 2 each turn.
Players take turns at each height or may skip.
Throw all 5 dice to equal or exceed the current he|ght
You have 3 attempts at each height.
Score: the maximum height that
was mastered.

}ﬁ

Throw the first set of 2 dice until you are satisfied
with the result. Proceed in the same manner for
the second, third and fourth sets.

You have a maximum of 9 throws total.

Score: total value of the dice, o NP =
\N J & \N\ Z,

6s count negative.
6\es
S
Throw all 5 dice until you are satisfied with the result.

You have a maximum of 6 throws total.
4 N ¢

Score: total value of the dice.

Start with 5 dice. Freeze at least 1 die per throw

You can only freeze dice with an even value.
You can decide to score at any time

You have 3 attempts.
7 N 1D+ %
— &

Score: best total value of
\10 12-14-16-18-20-22-24-26-28-30-32-

the frozen dice.
Jumping starts at a height of 10, increased by 2 each turn.
Players take turns at each height or may skip. Throw 2 to 8
dice to equal or exceed the current height, but without any 1
You have 3 attempts at each height.
Score: the maximum height that
was mastered.
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Start with 6 dice. Freeze at least 1 die per
throw. You can only freeze dice with an odd
value. You can decide to score at any time.
You have 3 attempts.
Score: best total value of
the frozen dice.

l:ﬁ@;

)
)

Throw the first die until you are satisfied with
the result. Proceed in the same manner for
each of the remaining 7 dice.

You have a maximum of 13 throws total.

Score: total value of the dice, — —
=D
N~ J e ¢
Scoresheet design (¢)2019-2020 Alfred Das.

6s count negative.
Original rules at www knizia.de (c) Reiner Knizia. All rights reserved.
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